作业答案
1-1答：（1）(a)关联（b）非关联
(2) (a)
[image: image1.wmf]=

A

p

＋
[image: image2.wmf]A

A

I

U

×

=10×7=70>0   吸收功率

（b）
[image: image3.wmf]B

p

=
[image: image4.wmf]—
[image: image5.wmf]B

B

I

U

×

=-9×6=-54<0   释放功率

1-2答：（a）
[image: image6.wmf]A

P

（吸）=+
[image: image7.wmf]2

´

A

U

       
[image: image8.wmf]5

2

10

2

=

=

=

A

A

P

U

V

（b）
[image: image9.wmf]B

p

（吸）=-10W   
[image: image10.wmf]B

p

（吸）=10×
[image: image11.wmf]B

I

     
[image: image12.wmf]1

10

10

-

=

-

=

B

I

A

（c）
[image: image13.wmf]C

p

（吸）=10W     
[image: image14.wmf]C

P

（吸）=-
[image: image15.wmf]1

´

C

U

    
[image: image16.wmf]10

1

10

-

=

-

=

C

U

V

1-3答：
[image: image17.wmf]=

A

p

-
[image: image18.wmf]=

×

1

I

U

A

-30×5= -150 w   产生功率


[image: image19.wmf]B

P

=
[image: image20.wmf]=

×

1

I

U

B

-10×5=-50    产生功率


[image: image21.wmf]C

P

=
[image: image22.wmf]w

I

U

C

120

3

40

2

=

´

=

    吸收功率


[image: image23.wmf]=

D

P

-
[image: image24.wmf]W

I

U

D

80

)

2

(

40

3

=

-

´

-

=

´

  吸收功率


[image: image25.wmf]W

P

P

P

P

D

C

B

A

0

80

120

50

150

=

+

+

-

-

=

+

+

+

   吸收功率

  电路满足功率平衡

1-4答：
[image: image26.wmf]A

I

4

4

=

，
[image: image27.wmf]A

I

3

5

-

=

，
[image: image28.wmf]A

I

1

6

=

，
[image: image29.wmf]A

I

3

7

=


1-5答：
[image: image30.wmf]0

=

I


1-6答：


[image: image31.wmf]V

U

I

AB

AB

1

,

0

-

=

=


1-7答： 

 
[image: image32.wmf]V

U

c

V

U

b

V

U

a

AB

AB

AB

23

4

6

2

15

)

(

12

6

18

)

(

9

)

(

=

-

´

+

=

=

-

=

=


1-8答：


[image: image33.wmf]1

4

8

4

7

4

8

U

U

U

U

=

-

+

-

+

-

-

        


[image: image34.wmf]V

U

U

U

4

8

7

8

=

-

+

-

+

-

-



[image: image35.wmf]V

U

U

1

7

7

=

=


1-9答：


[image: image36.wmf]V

I

I

U

V

I

I

U

A

I

I

I

BC

AB

4

)

1

(

1

)

3

(

1

1

1

5

)

3

(

1

2

1

1

1

3

2

1

2

3

3

1

1

2

3

-

=

-

´

+

-

´

=

´

+

´

=

=

-

´

-

´

=

´

-

´

=

-

=

-

-

=

-

=


1-10答：


[image: image37.wmf]V

U

AB

3

6

8

5

6

6

4

5

5

=

-

+

-

´

+

+

=


1-11答：


[image: image38.wmf]ï

î

ï

í

ì

=

=

-

=

-

=

=

+

+

+

+

ï

î

ï

í

ì

+

=

+

=

=

+

+

ï

î

ï

í

ì

=

+

-

-

=

+

+

´

-

-

=

+

+

A

I

A

I

A

I

I

I

I

I

I

I

I

I

I

I

I

I

I

I

I

I

I

I

18

.

1

88

.

0

06

.

2

7

4

.

3

0

4

.

0

2

2

5

4

.

0

2

2

5

0

0

5

2

10

0

10

2

1

5

0

3

1

2

2

2

1

2

2

3

2

1

3

2

1

3

2

2

1

3

2

1
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1-13答：
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1-14答：2/9
1-15答：
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1-17答：
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1-18答：
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1-19答： 
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1-20答：
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1-21答：（a） 5V，4Ω    （b）18V , 14Ω

1-22 图略 
[image: image53.wmf]A

1

6

2

-

8

I

=

=





















































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































_








U





+






















































































_





U2





_





U1





+





5A





U








—





























题1-18图











50











60





0.3A





30V











题1-19图 

















3A














5





25V











50





+











10














10V





N











R





题1-20图














10







































































4














8V











5





0.5A





3A








PAGE  
4

_1234567909.unknown

_1234567918.unknown

_1420374889.unknown

_1424416406.unknown

_1424417672.unknown

_1424417745.unknown

_1424417749.unknown

_1424417781.unknown

_1424417735.unknown

_1424416416.unknown

_1420375471.unknown

_1420376144.unknown

_1420376236.unknown

_1420377994.unknown

_1420376020.unknown

_1420375004.unknown

_1420375145.unknown

_1420375001.unknown

_1234567926.unknown

_1420374531.unknown

_1420374541.unknown

_1234567932.unknown

_1234567935.unknown

_1234567937.unknown

_1234567930.unknown

_1234567920.unknown

_1234567923.unknown

_1234567919.unknown

_1234567914.unknown

_1234567916.unknown

_1234567917.unknown

_1234567915.unknown

_1234567912.unknown

_1234567913.unknown

_1234567911.unknown

_1234567900.unknown

_1234567904.unknown

_1234567906.unknown

_1234567907.unknown

_1234567905.unknown

_1234567902.unknown

_1234567903.unknown

_1234567901.unknown

_1234567896.unknown

_1234567898.unknown

_1234567899.unknown

_1234567897.unknown

_1234567893.unknown

_1234567894.unknown

_1234567891.unknown

